C RAC E R WWww.cC-racer.com
INSTALLATION INSTRUCTION

Model Product Code

HONDA Monkey 125 Front Fender & fork Guard in Silver & black color | FFS-FG-HM-S & FFS-FG-HM-B

\ o

Y
CONTENTS MATERIAL DESCRIPTION
1. 1pcs P[astic wing The product is made of:
2. 2 Aluminum Guards (FG-HM) The wing is made of ABS plastic in glossy black
3. 2pcs Metal parts (Set LD2-FF-HM 2pcs) colour.
4. 1pcs Stand for tubes (A-FFS-FG-HM) The Fork guards are made of aluminum 3 mm thick and painted in black or
5. 8pcs M6X12 allen oval screws silver with electrostatic paint ( FFS-FG-HM-S & FFS-FG-HM-B).
6. 4pcs screws M6X40 allen oval The rest of the parts are made of DKP metal 2mm thick and painted black with
7. 1pcs M6X20 Allen screws electrostatic paint.
8. 8pcs M6 lock nuts The base for the tubes is made of acetal in black color
9. 1pcs nuts with cover M6 and CNC machined.
10. 4pcs washers 6X12 pcs The screws, nuts, washers and all the rest
11. 4pcs washers 6X18 required for the installation are galvanized in silver color.

12. 4pcs counters ©12PP8D22mm
13. 2pcs foams 10X2X55mm

These are the contents you will find inside

product packaging. Also in the package

you will find a card containing the link to

download the PDF file with the installation instructions
detailed step-by-step with photographic material.

Before starting the installation, read the instructions to have
a better idea about the tools you will need and the required
skills. Otherwise we suggest to contact a professional.

The product is for race use only
For any further information please do not hesitate to contact us: Tel.: +30 2108075387 Email: info@c-racer.com

Page 1/5



C RACER WWW.C-racer.com

Unscrew the screw that holds the tubes for the front
brake and ABS.

Unscrew the 3 screws holding the front fender
from the bottom of the fender and remove it from the
motorcycle.

Remove the base the fender was screwed. It has 4
Allen screws on the 4 corners of the base.

Remove the supporting brackets from the front tube
brake. To do so you need to open it as shown at the
photograph.

Page 2/5



C RAC E R WWW.C-racer.com

Remove the two screws holding the guard in place
of the front suspension. Do the same on the other side
side.

Now you have to prepare the fender before mounting it.
First place the 2 supporting brackets on the
fork guards, as shown in the photo.

Then place it on the fender.Use the screws provided in the
package. Align it and tighten it well.

The bottom will be as you see in the photo.

Page 3/5



C RAC E R WWW.C-racer.com

To complete the preparation, stick the adhesive
foam on the new base to prevent any damage on
the front suspespions.

Place the fender between the front suspensions,
as the photo shows.

Pass the adapter between the bottle and
the reed guard and tighten the screw
without tightening it.

Place the adapter between the suspensions and the
fork guard and screw it (not tightly).

Do the same forthe top screw. Continue with the other
side and after you put all the screws, check if it is aligned,
then tighten all screws.

Page 4/5



C RACER Www.c-racer.com

Finally screw the base for the brake pipes.
Place it directly under the old stand as shown
the photograph.

This will be your final result. Enjoy
your rides!

Page 5/5



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5



